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

     

 A

B C



 24 3  36 3  48 3

72 3



7

3

     


–

–
lim

x

x

2 4

32
x 2

5

"
f p

     



x

y

–3 2 8–5

3

4

5

7

y = f(x)

 



( ) ( )lim limf x f x
x x2 0–

+
" "

+

     







            


360 121

720 240

   



 –x dx2
2

6

#

  
2

3
 

2

9


3

16

  

 

–

–

A

1 2 3

5 2 1

2 0 1

=

R

T

S
S
S
SS

V

X

W
W
W
WW



 a an n
n

3 2
1

2
+

=
_ i/  

     

 ( ) – . –f x x x2 2 4 2= _ i

 –
2

7
   –

2

3


3

1




x

y

O
A

d

D

f(x)

 



     

 

     



–
y

x

x

25

3 1
2

=
+





 

 

 –
3

1



 –
25

1









           

 –sin cosx dx x dx
/

/
2 2

3

0

0

3





##

  
6




3


  3

 

ol-

     



x

x dx

12 +
#

    ln x c12 + +

 . ln x c
2

1
12 + +  . ln x c2 12 + +


x

x c
3

3
2+ +

  

( ) – –f x x x x
3

1
8 13 2= +










  



  lim
sin

x

x

2

3

2

3
x

=
"3

 –lim x x1 5 0
x

+ + =
"3
_ i

 –lim x2 4 0
x 2

=
"




  





x

y

–2 1

2

1

f(x)

( ) ' ( )f x x f x dx
0

1

+7 A#



     

  


     









             

 – –x x5 2+

     

 7 24+  –7 24

 2 6  6  3  







     

  


   











     

 – ( – )

x y

x

y

y
x

x y
1 1

2 2

2

+

+




   



 

–

–
.

– –

( )
. ( – )

x

x x

x x

x
x

9

5 6

2

2 3
1

2

2

2
2+ +

     

 .2

2

2
3

3

3

2

1

h

+

+

+


2

1


2

3
 

2

5










             

 –x x2 4< +



    

 



     

 


        

     

  

sin cosx x
4

1
F =




     







     

 




    

  

 





     






15

2


5
1


2

1


15

8


5

3









              

 

     



  




     


( ) . ( – )

x

x x6 25
0

2

2 2

#
+



     

 



x x
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